Solutions to Practice Problems

Problem 14.1:

Hypothesis:

H0: ( = 104

Ha: ( ( 104

Test Statistic:

S( = 14

S( = 6

S = max(S(, S() = 14

Observed Significance Level:

p-value = 2P(S ( 14) = 2(1 ( P(S ( 13) 

= 2(1 ( 0.942) = 0.116

Conclusion:

We can reject the null hypothesis at ( = 0.15 because p-value = 0.116 ( 0.15. Thus, the median weight is not equal to 104.
Problem 14.2:

Hypothesis:

H0: ( = 0

Ha: ( ( 0

Test Statistic:

S( = 8

S( = 12

S = max(8, 12) = 12

Observed Significance Level:

p-value = 2P(S ( 12) = 2(1 ( P(S ( 11) = 2(1 ( 0.748) = 0.504

Conclusion:

At ( = 0.10, one can not reject the null hypothesis because p-value = 0.504 ( 0.10. Thus, there is no significant difference in preference.

